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sYJl=4dH 40,048,804 39,814,586 234,218
= 1,513,341 1,455,740 57,601
z 7,829,000 7,829,000 0
pJ 6,255,595 6,109,276 146,319
< 3,622,442 3,590,844 31,598
i 20,828,426 20,829,726 A1,300
sgZde gy 12,485,447 12,422,527 62,920
= 190,067 132,466 57,601
= 1,470,000 1,470,000 0
7l 5,937,169 5,943,448 76,279
< 1,636,645 1,625,047 11,598
z 3,251,566 3,251,566 0
SEHsg Motk 830, 130 767,210 62,920
= 175,177 117,576 57,601
pJ 13,454 19,733 6,279
< 89,430 77,832 11,598
z 562,089 552,069 0
SR X2 231,148 161,949 69,199
= 166,376 108,775 57,601
< 38,186 26,588 11,598
= 26,586 26,586 0
402 QI AH=01H 231,148 161,949 69,199
= 166,376 108,775 57,601
< 3,186 26,588 11,598
z 26,586 26,586 0
03 QI+ EFALH I 231,148 161,949 69,199
OE2MEH X
3E 231,148,000 231,148 161,949 69,19
= 166,376 108,775 57,601
< 3,186 26,588 11,598
= 26,586 26,586 0
DEFsHAE 13,454 19,733 NB,279
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pJ 13,454 19,733 16,279
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Jl 318,426 165,828 152,598
< 468,109 448,109 20,000
= 3,205,312 3,206,612 21,300
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T 30,770 30,770
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o] 162,508 0
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| 40,401 40,401
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= 30,500 30,500
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41,700,002 14} 41,700 43,000
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DAY Al 22 20,000 0
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= 20,000 0
01 M=l 20,000 0
0NE, SHZ
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